/’\

BIJUR DELIMON

v

ServiceCard

Pump AD-M

Spare Part /
ServiceKits

Service Hotline:
+49 (0) 211 7774 262

Central call:
+49 (0) 211 77740

Page 1 of 4 SC_2006_2_GB_ADM



e
BIJUR DELIMON

S —
Article denomination Amount | Article number | Description
ADMETAO0001 1 719311341 coupling 11 H7 steel AD-M
SP-Kit gear pump 1 719311351 coupling 6 H7 steel AD-M
1 727111793 O-ring DIN 3771 - 86x2,5 - N - NBR70
3 727121094 packing ring DIN 7603 - A 10x13,5 - Cu
1 728111713 gear pump Q=1,3 I/min at 3000 U/min
0,15 731001234 pipe DIN EN 10305-2 - St37.4 NBK - 6x0,7 - galv.
2 735112721 conical ring for pipe 6
2 735115781 cap screw for pipe 6-M10x1
4 741021624 cheese-head screw DIN 7984 - M5x50 - 8.8 - A3F
2 741021664 cheese-head screw ISO 4762 - M4x45 - 8.8 - A3F
2 741072224 set screw ISO 4026 - M5x5 - 45H - galvanized
1 741114041 hollow bolt AD-M
1 741114241 ring connection piece D1-10 - D3-M10x1
2 741853014 spring washer DIN 7980 - 4 - FSt - galvanized
4 741853024 spring washer DIN 7980 - 5 - FSt - galvanized
1 743545181 flange AD-M
ADMETA0002 1 636114191 valve AD-M
SP-Kit valves, sealings, springs 1 716143122 spring
1 716145191 compression spring
2 719614174 ball DIN 5401 - 6,350 mm - V
1 727111793 O-ring DIN 3771 - 86x2,5 - N - NBR70
8 727121094 packing ring DIN 7603 - A 10x13,5 - Cu
3 727121214 packing ring DIN 7603 - A 14x18 - Cu
2 727135113 USIT-ring U 4,1x7,2x1
1 727314412 sealing
1 741061164 plug screw DIN 908 - M10x1 - 5.8 - A3F
1 741061174 plug screw DIN 908 - M14x1,5 - 5.8 - A3F
1 741681611 screw
1 741811621 washer
ADMETAOQ003 2 741072224 set screw ISO 4026 - M5x5 - 45H - galvanized
SP-Kit assembly group gear pump 1 743545181 flange AD-M
4 741853024 spring washer DIN 7980 - 5 - FSt - galvanized
4 741021624 cheese-head screw DIN 7984 - M5x50 - 8.8 - A3F
2 735115781 cap screw for pipe 6-M10x1
2 735112721 conical ring for pipe 6
ipe DIN EN 10305-2 - St37.4 NBK - 6x0,7 -
0,15 731001234 Saplvanized
1 728111713 gear pump Q=1,3 I/min at 3000 U/min
2 741853014 spring washer DIN 7980 - 4 - FSt - galvanized
2 741021664 cheese-head screw 1ISO 4762 - M4x45 - 8.8 - A3F
1 741114241 ring connection piece D1-10 - D3-M10x1
3 727121094 sealing DIN 7603 - A 10x13,5 - Cu
1 741114041 hollow bolt AD-M
1 727111793 O-ring DIN 3771 - 86x2,5 - N - NBR70
1 719311351 coupling 6 H7 Stahl AD-M
1 719311341 coupling 11 H7 Stahl AD-M
1 741061164 plug screw DIN 908 - M10x1 - 5.8 - A3F
1 741681611 screw
2 719614174 ball DIN 5401 - 6,350 mm - V
1 716145191 compression spring
1 727135113 USIT-ring U 4,1x7,2x1
1 727121214 sealing DIN 7603 - A 14x18 - Cu
1 741061174 plug screw DIN 908 - M14x1,5 - 5.8 - A3F
1 741811621 washer
1 716143122 spring
1 636114191 valve AD-M

Page 2 of 4

SC_2006_2_GB_ADM



e——
BIJUR DELIMON

S —

Article denomination Amount | Article number | Description

ADMETAO0004 1 743545181 flange AD-M

ET-Kit Pumpenflansch AD-M 727121094 sealing DIN 7603 - A 10x13,5-Cu
727111793 O-Ring DIN 3771 - 86x2,5 - N - NBR70
741061164 plug screw DIN 908 - M10x1 - 5.8 — ZNNI8
741681611 screw

719614174 ball DIN 5401 - 6,350 mm - V
716145191 compression spring

727135113 USIT-ring U 4,1x7,2x1

727121214 sealing DIN 7603 - A 14x18 - Cu
741061174 plug screw DIN 908 - M14x1,5 - 5.8 - A3F
741811621 washer

716143122 compression spring 0,75x9,8x5,5x16
636114191 valve AD-M

727135653 sealing plug MB 850-060 6mm-St hardened

ADMETAO0005 ZEG10A distributor ZE-G, 100 mm®

ET-Kit AD-M VZEQ1AO08 injector manifold VZ-E
735115133 cap screw DIN 3871 - ALL 4 M8x1 — galv.
735112624 olive ball sleeve DIN 3862-4-Ms40 F35
727121094 sealing DIN 7603 - A 10x13,5 - Cu
741061164 plug screw DIN 908 - M10x1 - 5.8 — ZNNI8
735115153 cap screw DIN 3871 - ALL 6 M10x1 — galv.
735112644 olive ball sleeve DIN 3862 — 6 — Ms40 F35

ADMETAOQ0006 39111F180 return flow filter RF W/HC60DC25D1.0/-LED

ET-Kit Rucklauffilter AD-M 74351B077 reservoir cover 13 Liter
741021054 cheese-head screw DIN 7984 — M5x20 - 8.8 - A3F
741853024 spring washer DIN 7980 - 5 - FSt — galv.

727314423 sealing reservoir Behélter NG 12/13

N E N T P P P T [l Rl B [ A Tl B N T T N TR P PR TR CR P P T T

Page 3 of 4 SC_2006_2_GB_ADM



BIJUR DELIMON

INTERNATIONAL

O

Next TLM audit

O

TLM approval




